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Intuition may suggest the

answer is th since the drawn

card is either RB or RR However it could be either

side of the RR card and hence the RR card

accounts for two of the tree possible
outcomes Alternatively

we can use Bayes rule
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c only when the probability
of one pet is zero



EI
Let E be the

event of interest

a The number of possible
outcomes is to Fday IEl B

difficult Instead
consider the evet Ee in which exactly

to stops are
made We can either view this problem

as ordered or unordered

each so 171 40 Similarly IE ftp therefore

UnordedDeteraing Irl is unordered sampling with

replacement which we skipped To find Irl note that

there are to possibilities in the
ordered case ad

10 ways to order the
lo people so

191
the ordered arrangements

ways toorderpeople



In the unordered case IE
3

Thisgives

PM

which matches the ordered case


